
Use your arithmetic, written methods and problem solving skills to answer 

all of the questions. Make sure you turn over! 

£182.65 + £67.58 = 

 

   A sticker book can hold 6 stickers per 

page. If Lucy had 75 stickers, how many 

pages would she will?  

 

 

   
𝟑

𝟗 
  of 45 = 

£100 - £63 = 

6758 x 6 = 

  

 

Round 2748 to the nearest 

ten. 

Find the difference between 

45 and 382 

4.6 x 100 = 

 

Now turn over for your problem solving and reasoning questions… 

 



Q1. 
Ken buys 3 large boxes and 2 small boxes of chocolates. 

Each large box has 48 chocolates. Each small box has 24 chocolates. 

  

How many chocolates did Ken buy altogether? 

  

Q2. 
  
A pack of paper has 150 sheets. 

4 children each take 7 sheets. 

How many sheets of paper are left in the packet? 
  

  

 


